=51

OMEREXERBE +0.5%F.S Z M

O® R {EMH B
BT AR E AT LU B IR R
©® =iEM
ST 2ms WS A &
D oms
@ @ Q@ @
MPS :E}]4M5 ~[G|[H][A]
DEHEE L—@ﬁm%ﬁ
D | mzE A | R
QESEERIE
G | EiEHL(FemeEEg) QFREREEW

H | MEEZEER

| HERRS
RIEERH

L3. F3Ef#: MPS-ACCK1 REREER: MPS-ACCH1

5
&
af

X

=

345



MPS-4

T

S L MPS-D4
& AR FRED). FERESE
WNEE FERRRE
B EE R kPa -2.00 ~ 2.00
ARIET E 71 Mpa 27kPa
BEIRE © 0~50
FERE % 35~85 RH(GEEZE)
#EORST M5
HEiR LR \ DC10.8 ~ 30, BkEh(Vp-p)5% AT
THER R mA 45
FrXHH NPNFAREBE 2aHH
TR mA max.125mA
I H \ MEHH DC1~5 (+0.2) H&iE+0.5%F.SUT. MHBER1KQ
REBE % +05 FS.UTF
REEE +3%F.S.UT(FrERE25C. B 0~50C)
RERTE] ms 2.5 T (EH U HLBE AT A FE40. 160, 1280)
I DES
BR 3 12(I7TERR. 48
BRSO RREE kPa 0.01
RIRETIE s AT 0.1 ~3(0.184)
RIPER 1P40
it E 10 ~ 150Hz, £#RIE1.5mm. XYZ&F m2/h it
it m/s” 100 XYZ&F[E3[E
B Eig e
AR ¢4 0.15mm° 4 2m EBUSHME: ¢4 0.3mm° 5& 2m
BB L3, F3ZEm M
e g A5( A FARE)
L ABE®EE
NPN#iH NPN#IH (EBIHH . 1-5V)
[ — y ) @) +v — . ) @)+
b Max.125m/t) b I Max. 125%
* (®) oUTH LOAD * o
Max.125mA) + —@ ,L I E|)0UT2 Max.125mA .
=] @: x ~—~ DC10.8 ~30V [ —~ DC10.8 ~ 30V
(8) OUT2 - e5% —@ & I T 5%
_[> Qm (H4T) ANALOG >
% ‘@E ‘ % X I (DC: 1-5V)
(8%) oV (#%) ov
— J — J

346




MPS-4

BRERA R

EHER
B RE R AT I B

101

L

#HFBIR(E, 3AILED)
BRIEMES
BER, BRIZTERD, WER, SRR,

B REH2HE(RE)

BREHABEAR)
OUT1HIH R = 4T,

ouT2 DETS

MODE —
500

iR,
DOWN#
B ERHE,

REFR
HBRES RS LR RS,
ERX B E

DHIH (OUT150UT2) ik F

REEERE 08 2% (OUT1)=4% (0UT2), BR-2-

HE-4-, 3FHUFEERoulzgou2, MAEIRERR
@EMEEKXIZE

Cnp#AHys#EEM 2R,
[H45]

RUPE A SZDOWNE VI FHNEERX, AEEF
1R D), BREND, BERT.

HyS : MEEK
CnP : ETRRIER
oFF : it

MR RRE

O H IR E R IR E
BTHIEERE DIMRER, HTUPRA,

@OUT1MiEE

FRoul, n.c.fno.HERTR, @EIUPEAFMDOWN
BVREFENAMERXE, REXEP)RE,
n.o. EHFF

n.c.Er%

@OUT2HIEE

BRou2, nc.finoBERR, ETUPEAFIDOWN
BVREEENFAMERXE, RTEXEPIRE,
n.o. B

n.c. Eftx

FahiXEEN
R
Ok (OUT15OUT2) ki +E

R g 021k (OUT1)eH23%(0UT2), BR-1-

HE-3-, FHHLUEERH-1(OUT1)82H-2(0UT2),
DMEMIEEE-46HEE T

QIEEEAMBNT L
HRUPEASEDOWNE Y, IEEMNE /G EMERS,
it B R,
QR EMBWNT %
h-1(OUT1)skh-2(OUT2)fIBEMEE, BRA-10,
T UPH A FIDOWNEE V SRET N ST E 1, RF1ERS
i B RE, BRENDRERT, BREFERNES
SRt
L TBRE
O#IH (OUT1EOUT2) i E
A ER R 001k (OUT1)E 235 (0UT2), FiR-1-
H2-3-, 3MHIERRA-1(0OUT1)E2A-2(0UT2),
g HEMIREE-26/8E 2T,
Q@ENTIREMIEE

RUPEAFIDOWNE ViZEMANENNTIRER, %
e B DI RE,

[+5.0]
QF A LRI

b-1(OUT1)skb-2(OUT2)MIMFEMI£ME, BmH-53,

TUPAFIDOWNE VSRR Z(E, RIEE
Hig DIRE, BRENDRER T, REEIFERMESN
B,

347




MPS-4

RBEADREDREREED (RZWH)
OEBREERIEE

TN BRHEERE D) 5%, WG, AUBTAR,
-— ifh BEhiEEERN,

@WRB, BIRHIARAE
EUARET, BEREWR SR ST

WM

KRR RIZRM N RBRESES,

@EZWIFNE

ERFTEZEHR, BIEZBANNRENE
=EAN.

GCHFHEANT T
BEXEM), BEET.
BRMALFIERNIEEoNBERTR, RUPEA

FIDOWN$YV, £iZHRm KAYEEAIONFIOFF,
BEXE P RE,

ERHUALNFIHIERIREEIHEER T,
HUPSAFIDOWNSE Y, @RS EAESR
#(1~100), #ZEXEBRE,

348

HinigE

OREH

PIEILE
ZIEEREPIMER, HDOWNEY, E:RLoC
Ja, BERFLUITIRIE,

e D ER, ZDOWNEY, RUnC

5, gEm.
@RBEMRIKENRE
BHANE

TR
RUPEA, BRPE, ZERTREMHE.

RRENER
#DOWN#EY, BRbo, ZFBTRIKME,

@FEMEM

[---]

< BHEEINEE >
BZhi&EINRER, BEAM T,

WEORHASE, RESEDRHHILE, HAR
REN, BEEKXSKE + 3%F.SIEEMERIE,

VP:
Vb:

o

=

R1E

il

=

pl

DOUTT: RE#R
EESH  H-1=(VP-Vb)x60/100 + Vb
£ h—1 = H-1x5/100

@o0uT2: ETRER
TRRIEH A-2 = H-1x80/100
LEREAN b-2 = VP x 80/100

(%) == R e IR MY R 9 B 5 £ 71 2 -80.3kPa
HZ IR &R E 712 OkPa

H-1 = (VP-Vb) x 60/100 + Vb
= (~80.3-0) x 60/100 + 0
=-482 kPa

h-1 = H-1x5/100
= (-48.2) x 5/100
=-25 kPa

A-2 = H-1x80/100
= (~48.2) x 80/100
=-386 kPa

b-2 = VP x 80/100
= (~80.3) x 80/100
=-64.2 kPa



MPS-4

W\

5MER mm)

7S
30 10 245 10 20
ABOMS—65
m [
- |B88
000
Baa= .
HETHR WERR
. /@w TN
I i i
H—t—1— %7
L 00 L
- O = 3103
t— a
\Il—‘/ AR |
L w8
Bt L3 B4
445 27
14
dh TNoP
|: :I < O ©
— || T
JL
35
A F
Vamr =~
@ aYay
e
Bt F3 B {4
445 28
i 5 [O
(@)
i ol ©
16 — e -
&'69“ \\ 2
L L I

20

349





